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Chapter I, Test Review

1. Five students each pulled a piece of paper from a bag with an integer written on it.

The student with the largest integer would be last to lunch. Order the integers from

g, 4,-2,-gr-to

2. Which list shows the temperatures in order from warmest to coldest?

-QoF, -2oF, OoF, 1oF, lz"F

I2oF, IoF, QoF, -2oF, -6oF

OoF, -2oF, -6oF, 1oF, L2"F

IzoF, 1,;F, -2oF, -6oF, OoF

3. To which set of Ooes -f belong?

rationa I

integer

integer and rational

whole and rational

Student *Integer

Jordan "l

Samantha

Michael

MarY 
i;-!

Tommy



4 Place the following numbers correctly on

28.7, zB1, 28,05,

l
28.75

28

Which number will. be closer to 2B?

Record your answer on the answer grid.

Be sure to use the correct place value.

the number line

28!r
2s.25

provid.ed.

29.oo
28.66+
28. 19
29.25
28.Ts
2q .J)Q

5. The winter temperatures in New England were recorded four months in a row.

Temperatures in New England

Month Temperature
December -1.15"C
Januarv - 1.050c
Februarv -r.20c
March - 1,2BoC

Which list shows the months in order from the
temperature in degrees Celsius?

March, December, January, February

January, December, February, March

March, February, December, January

January, February, December, March

oR
Grearest to leq$



6. Jonathan placed the following

Point A: -? = - 5

Point B: != 2
7

PointC: -i=-Z.S
PointD: i=3.5

points on the number line:

A
X
C

x
c

,/(
BD

Which point is NOT correctly placed on this number line?

Point,A

Point C

Point B

Point D

7. Use the model below to answer the question.

Which of the following numbers ess than -i Z
3

_!
2

7

t4.- I1 
-i o Z 1

_Z
B

_l
6

B. Which number is the opposite of the number shown on the number line?

3

-3

5

-5



9. Teresa collected water samples to compare amounts of rainfall.

is closest to 2 inches of rainfall?

1

Record your answer on the answer grid.

Be sure to use the correct place value"

10. Sue will correctly label the numbers
line below.

.:

Which number will be located closer

28.05, and 28.25 on the number28.4, 28.75,

to 29?

28.4

28.25

28,0s

28.75

28.99
28.05
20.25
2B.p
28.75
?q-99



11. Garrett will use six different colored wires for a kite project. The fractions represent
the length of these wires in inches.

t ,r, 2 rxo 3r+ 312

-, 
-, 

-t
.J,6t Bk2 r6t ztXS 4l+ BXI c0mrnDn

Which list shows th to greatest?

J-L

G,G

12. Daunte lost 6 yards in the first quarter of the football game. In the second quarter,

233737
ut *r ! Y;';

/3L5

tr nr ,t tr

32-3 173
L6t L6' B' z' gt 4

373213
jr,r [r *r t,n

r+

IS

ne

Wh e of Daunte's yardage in the second quarter?

xRecord your answer on the answer grid.

Be sure to use the correct place value.
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13. Mrs. Luke has 4 bottles of paint. She wants to start using the largest bottle first and
end with the smallest bottle. The sizes of her bottles are -1,9 ounces, 1J ounces, 7.37

ounces, and -2f ounces. 1,25

-2''-15
Which show the sizes of paint arranged in order from greatest to least?

t4. Which number is NOT an integer?

3.9

-15

0

4

15. Which of the following best describes the location of -2.8 on the number line?

Point A

Point B

Point C

Point D

! .37 , t;,

-21, -1.e,

L;, ' r.37 ,

-2i r;,

-1 q J3-
+

t;, t.37

-1.9, -2i

t.37, -1"9

o1234



16. The table shows the distance four students run every day after school to prepare for

track.

Distance walked by teachers

Name
Distance
(hours)

Randy
l+

mile

Juan 2 I miles
3

Nabian 2 I
) miles

Sergio miles

2

7
t2

2x4_a
3t+- tz
I{b = b-Lvb t2

tt= fr
, S0 \|Ou (qn just CoNr0ar? ftoctions

From least distance ran to greatest distance ran, which list correctly names the students
in order by distance from least to greatest? :

I
Sergio, Nabian, Randy, Juan

. Randy, Juan, Nabian, Sergio

Nabian, Juan, Sergio, Randy

Sergio, Randy, Nabian, Juan

L7. Which of the following statements is true for the number 25?

It is a whole number, an integer, and a rational number.

It is a rational number, but not a whole number or integer.

It is not a whole number, an integer, or a rational number.

It is a whole number, but not an integer or rational number.



18. Four stores are having sales. The table shows the price reduction at each store.

Store Sales

Store Name Price
Reduction

(Percentaqe)

Bass Pro
1.

=+

Gander Mt
.20

Cabelas .30

Academy
3
7J

o,25

0.20
0.30

o.bo

Which list shows the price reductions fromJgg,:t savingsto the greatest savings?

5

;, .20, .30, ;

.20, ;, .30, ;
3^n-n1'
lr'ZU,'5U, i

-1 -2.35 -2? 11s534

-! -2? -2.35 ls 
1534

12 a 4tr'
-z-35+

-2? -2.35 -! 1 1s

354



l

IJse the number tine to answer questions 2O and il.

20. nt is true

nd V rep
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2r. integer is the opposite of the value of point W?

22. Which number on the number line is NOT classified as a whole number?
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Record your answer and fill in the bubbles

on your answer document.

Be sure to use the correct place value.
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23. Sandy wrote an integer. The opposite of Sandy's integer is -45. Which of these

statements about Sandy's integer must be true?

L The integer is 45.

The integer has an absolute value of -45.

. The integer is -45.

IV. The integer has an absolute value of 45,

I and II

II and'IV

II and III
I and IV

24. The Venn diagram shows the relationship among different sets of numbers.

Which number would be located in the shaded part of the diagram?
,. 

."!

-2.3 . 
.,

1
2

15

-7



25. Which graphic organizer correctly groups the following numbers?

t.g, -2.51 -|,,15l, 12, -7

Rational Numbers

1'9 -2.s

lntegers 8

-T
Whole Numbers

i5l i2

Rational Numbers
-2.5

I n teo ers--7 B

-T
Whole Numbers

i5l 1'e

12

Rational Numbers

f.9
8*T
I

Integers 
l5l

-2.5

Whole Numbers

:ln

Rational Numbers
-2"5 f.9

Inteuers--7

Whole Numbers

lsl -q n
I



26. A coordinate grid is shown below,

I l2

,a ))(r 4),
Which ordered pair describes a point that is located 2 units to the right of the
origin and 4 units belour the x-axis?

(-4,2) 
+

(2, -4)

(-2, -1)

(4, -2)

27. Ben graphed point G on the coordinate grid. He will graph point H at a location 7
units away from point G. v

o)
'F

a
G

o

,
I

6

5

H
a

-2 -1

...-2
. .-i
-- -4

--5
*6

-- -B

l2)4567a9

Which ordered pair could represent the location of point H?

(-4,5)

(-9, B)

(1,3)

(-4,-4)


